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(1) A program that generally has more user-friendly interface than a DBMS is called a
[A] front end

[B] repository

[C] back end

[D] form

Answer : [D]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(2) An anti-virus is a
[A] program code

[B] computer

[C] company name

[D] application software

Answer : [D]
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(3) Which of the following is not a binary number?
[A] 001
[B] 101
[C] 202
[D] 110

Answer : [C]
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(4) Which of the following objects is/are contained in database?
[A] Table

[B] Queries

[C] Form

[D] All of these

Answer : [D]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com
G A is a small program embeded inside of a GIF image .
[A] web bug

[B] cookie



[C] spyware application
[D] spam

Answer : [C]
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(6) Which of the following statements is valid?
[A] 1 KB = 1024 bits

[B] 1 MB = 2048 bits

[C] 1 MB = 1000 kilobits

[D] 1 MB = 1024 kilobytes

Answer : [D]
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(7) A time bomb occurs during a particular
[A] data or time

[B] logic and data

[C] only time

[D] All of the above

Answer : [C]
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(8) The scandisk program is used to

[A] find bad cluster of disk and also remove these cluster
[B] scan disk and eliminate viruses

[C] scan disk and eliminate .BAT files

[D] All of the above

Answer : [B]
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(9) BIOS stands for

[A] Bias Integrated Output System
[B] Bias Integrated Operator System
[C] Basic Input Output Software

[D] Basic Input Output System

Answer : [D]
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(10) The database stores information in

[A] rows and columns



[B] blocks
[C] tracks and sectors
[D] All of the above

Answer : [A]
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(11) Some viruses have a delayed payload, which is sometimes called a
[A] time

[B] anti-virus

[C] bomb

[D] All of these

Answer : [C]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(12) ... means that the data contained in a database is accurate and reliable.
[A] Data redundancy

[B] Data integrity

[C] Data reliability

[D] Data consistency

Answer : [B]
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[C] 10
[D] 16

Answer : [D]
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(14) Which of the following statements is true?

[A] 1 gigabyte is equivalent to 1024 kilobyte

[B] Mb stands for megabyte

[C] Octal number system having 8 digits

[D] Decimal number system cannot contain binary digits

Answer : [C]
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(15) Which of the following is not an internal command of DOS?



[A] VER
[B] COPYCON
[C] FORMAT
[D] VOL

Answer : [C]
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(16) The database administrator's function in an organisation is

[A] to be responsible for the technical aspects of managing the information contained in organisational databases.
[B] to be responsible for the exeuctive level aspects of decision regarding the information management

[C] to show the relationship among entity classes in a data warehouse

[D] to define which data mining tools must be used to extract data

Answer : [A]
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(17) Which one of the following DOS commands sends contents of the screen to an output device?
[A] BREAK

[B] DISK COPY

[C] MORE

[D] ASSIGN

Answer : [B]
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(18) Hackers often gain entry to a network be pretending to be at a legitimate computer -
[A] spoofing
[B] forging

[C] IP spoofing

[D] None of these
Answer : [C]
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(19) To perform calculation on stored data computer uses ........ number system.

[A] decimal

[B] hexadecimal
[C] octal

[D] binary

Answer : [D]
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(20) Which of the following is/are function of operating system?
[A] User interface

[B] File system manipulation

[C] Resource allocation

[D] All of the above

Answer : [D]
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